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INTRODUCTION TO VHDL
Experiment 4c (Two Instances of a Counter with debouncers) Report

1. Determine and explain if there are any resource usage differences between the designs of the following;

a) Two counter processes at the top level.

b) Two instantiations of counter design.

3. What would you change if you need a 2 digit BCD counter that counts up/down between 00 and 99? Explain. Place your block diagram here as your solution.
4. Place your block diagram regarding the homework section of the Lab document (about 50 MHz to 1 Hz clock divider), but this time the counter should have dual speed. That is, when Fast input is high the counter should count twice as fast compared to the case when it is low (2 Hz vs 1 Hz). Explain your solution.
A note on reports :

You should never ever share your homework/reports with other students. Copied reports (partly or completely) get 0 (zero) points (both students) whereas incorrect answers are penalized by only a couple points. Labs, reports and homework are here to encourage you to think, research and find solutions by yourselves. If you need assistance (at this level, you shouldn't) you can ask anyone instead of copying their work. I am quite serious on this issue!

Note : Follow the "turn-in" procedure explained in Experiment-2 report template.. 

